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\( 4 1 8 2 10 11 3 7 5 6 9

U Solving Sequence
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A knot diagranﬂ G G G G G G Cg (3
Ideals for irreducible component#ﬂ)f Xpar
= (—u®™® —u" 4+ by, —u® M+ a1 w20 —u 1)

IV =(b+1,a+2 v>+u—1)

* 2 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy u —3u® o —du+1
C2 u'® + 250"+ du+ 1
c3, C7 u +u® + .+ 8u+4
C5,C6, Co utt oyt oyt
C10
< u'® — 15u® + - — 232u + 16
c11 u'® — 140" + - — 885u + 207




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,ca y'0 =25y 4y +1
Co yi0 —by® 4 —ddy +1
3,7 Y% — 15y%° + ... — 232y + 16
€5, €6, C9 yi0 — By 4+ — 9y 41
C10
cs Y0 + 29y + ... — 9760y + 256
11 y46 _ 18y45 + - — 704565y + 42849




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1C)

Cusp shape

u = —0.869521 4 0.3441451
a= 1.50416 + 0.734341
b= 1.129120 + 0.4568161

—4.45409 — 3.414611

—10.48322 4 2.632321

u = —0.869521 — 0.3441451
1.50416 — 0.734341
1.129120 — 0.4568161

a =

b:

—4.45409 4 3.414611

—10.48322 — 2.632321

0.755545 + 0.4988601
1.99178 — 1.617781
1.180690 + 0.538180.1

u =
a =

b:

—3.31037 — 10.450501

—8.69927 + 9.359171

0.755545 — 0.4988601
= 199178 4+ 1.617781
1.180690 — 0.5381801

u =

—3.31037 + 10.450501

—8.69927 — 9.359171

0.711638 + 0.4690051
—0.763674 — 0.3182001
0.203438 — 0.8158151

—0.41848 — 5.455011

—5.35190 + 6.480521

0.711638 — 0.4690051
= —0.763674 + 0.3182001
0.203438 + 0.8158151

—0.41848 4- 5.455011

—5.35190 — 6.480521

—0.735390 4+ 0.4248011
—2.02595 — 2.041601
—1.135150 + 0.4473031

—4.51433 4 4.407441

—10.64051 — 5.578911

—0.735390 — 0.4248011
—2.02595 + 2.041601
—1.135150 — 0.4473031

—4.51433 — 4.407441

—10.64051 + 5.578911

0.745322 + 0.3832181
—1.65094 + 0.771061
—1.213930 + 0.3248371

—4.79298 — 1.737121

—11.07336 + 4.613841

0.745322 — 0.3832181
= —1.65094 — 0.771061
= —1.213930 — 0.3248371

>~ Q@ €|l @ €| & €|l & 8| @ €|l & &>
Il

—4.79298 4 1.737121

—11.07336 — 4.613841




Solutions to I V—=1(vol +/—1CS) Cusp shape
u = —0.789174
a= 1.29622 —1.45882 —5.44130
b= 0.519026

u = —0.727976 + 0.2866891
a= 0.947922 — 0.2308961
b= —0.010899 — 0.5573871

—1.56660 + 0.495321

—7.68115 — 1.360181

u = —0.727976 — 0.2866891
a= 0.947922 4 0.2308961
b = —0.010899 4 0.5573871

—1.56660 — 0.495321

—7.68115 + 1.360181

u= 0.508676 + 0.5073541
a= 0.77267 — 1.481191
0.827592 + 0.6004891

2.79032 — 4.136351

—1.98154 + 7.569141

u= 0.508676 — 0.5073541
a= 0.77267 + 1.481191
0.827592 — 0.6004891

2.79032 + 4.136351

—1.98154 — 7.569141

u= 0.393201 + 0.5142061
a = —0.490341 + 0.2272491
b= 10.712026 — 0.6048921

3.12084 + 0.587491

—0.262566 + 0.3272621

u= 0.393201 — 0.5142061
a = —0.490341 — 0.2272491
b= 10.712026 + 0.6048921

3.12084 — 0.587491

—0.262566 — 0.3272621

u=0.109343 + 0.6292691
a= 0.371133 + 0.7581251
b= 1.143360 — 0.5198551

—1.40155 + 6.643071

—5.04471 — 5.158051

u= 0.109343 — 0.6292691
a= 0.371133 — 0.7581251
1.143360 + 0.5198551

—1.40155 — 6.643071

—5.04471 + 5.158051

u= 0.147821 + 0.5483451
a= 0.106291 — 0.6565381
b= 10.241472 + 0.7126821

1.22062 + 1.955971

—0.98131 — 1.368181




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.147821 — 0.5483451
0.106291 + 0.6565381
0.241472 — 0.7126821

1.22062 — 1.955971

—0.98131 + 1.368181

—1.48057 + 0.068281

0.242649 + 0.1387711 | —2.87293 + 1.275411 0
= 0.572969 + 0.7014301
= —1.48057 — 0.068281

0.242649 — 0.1387711 | —2.87293 — 1.275411 0

0.572969 — 0.7014301

—0.045501 4 0.5117451
—0.354500 + 1.2841501
—1.113980 — 0.3612951

—2.55505 — 1.202621

—6.54006 + 0.407761

—0.045501 — 0.5117451
—0.354500 — 1.2841501
= —1.113980 + 0.3612951

—2.55505 + 1.202621

—6.54006 — 0.407761

—0.410393 + 0.2839421
0.89569 — 1.728491
—0.678138 4 0.2258711

—0.893062 4 1.0820401

—6.48995 — 6.282511

—0.410393 — 0.2839421
0.89569 + 1.728491
—0.678138 — 0.2258711

—0.893062 — 1.0820401

—6.48995 + 6.282511

—1.51614 + 0.115871
1.35148 + 0.707521
0.929112 — 0.6237251

—3.88727 + 6.303511

—1.51614 — 0.115871
1.35148 — 0.707521
0.929112 + 0.6237251

—3.88727 — 6.303511

1.53678 + 0.033381
= —0.343145 + 1.0280201
= —0.766719 — 0.4610591
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—7.50480 — 1.948111




Solutions to I Vv—1(vol + +/—1CS) Cusp shape

u= 153678 — 0.033381

a = —0.343145 — 1.0280207 | —7.50480 + 1.948117 0
b= —0.766719 + 0.4610591
u = —1.55032
a = —2.37917 —8.97468 0
b= —1.24159
u= 0.401298
a = —2.88943 —2.16597 1.80760
b = —1.09496
u= 1.61177+0.091541
a= 0.560766 + 0.507385] | —9.57946 — 1.981781 0

b= —0.121683 + 0.7043601

u= 1.61177 —0.091541
a= 0.560766 — 0.507385] | —9.57946 + 1.981781 0
b= —0.121683 — 0.7043601

u = —1.61019 + 0.134981
a = —0.394457 + 0.7162021 | —8.32029 + 7.709261 0
b= 0.178478 + 0.8764021

u = —1.61019 — 0.134981
a = —0.394457 — 0.7162021 | —8.32029 — 7.709261 0
b= 0.178478 — 0.8764021

u= 1.61725+ 0.121641
a = —2.39412 + 1.225651 —12.55170 — 6.460111 0
b= —1.163660 — 0.4875821

u= 1.61725—0.121641
a = —2.39412 — 1.225651 —12.55170 4+ 6.460111 0
b= —1.163660 + 0.4875821

u = —1.61885 + 0.110097
a = —2.28924 — 0.548561 —12.88440 + 3.599661 0
b= —1.267550 — 0.3410141




Solutions to I} V—1(vol +1/=1CS) | Cusp shape
u = —1.61885 — 0.110091
a = —2.28924 + 0.548561 —12.88440 — 3.599661 0
b= —1.267550 + 0.34101471
u = —1.62455 + 0.145741
a= 245895+ 0.922401 —11.4148 4+ 12.88671 0
b= 1.209800 — 0.5454407
u = —1.62455 — 0.145741
a= 2.45895 — 0.922407 —11.4148 — 12.88671 0
b= 1.209800 + 0.5454407
u= 1.64237
a= 1.72270 —9.96538 0
b= 10.784410
u= 1.64966 + 0.087261
a= 212772 —0.583971 —13.13770 + 1.799651 0
b= 1.160220 — 0.4054251
u = 1.64966 — 0.087261
a= 212772+ 0.583971 —13.13770 — 1.799651 0

b= 1.160220 + 0.4054251




ILIY=(b+1,a+2, v +u—1)

(i) Arc colorings

ayp =
ag =
ag —
az =
-1
a3 = \—1
(ii) Obstruction class =1

(iii) Cusp Shapes = —17
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
! (u—1)?
2
C2,Cy4 (u + 1)
C3,C7,C8 U
2
Cs, Cg u+u—1
g, €10, C11 u—u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C2,C4 (y_l)
€3,C7,C8 y2
Cs5,C6, C9 y2—3y+1
€10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/=1CS) Cusp shape
u= 0.618034
a = —2.00000 —2.63189 —17.0000
b = —1.00000
u = —1.61803
a = —2.00000 —10.5276 —17.0000
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

C1 ((U—1)2)(u46—3u45—|—---—4u+1)
£ (1)) (' + 2505 + -+ du+ 1)

c3,C7 “2(u46+u45+~~+8u+4)
C4 ((u+1)2)(u46 *3U45+~~-f4u+1)

Cs5,Co (W +u—1)(u® 4+ 2u* 4+ —u+1)
Csg UQ(U46715U45+7232U+16)

€9, C10 (u? —u—1)(u*® +2u®® + ... —u+1)
c11 (u? —u — 1) (u® — 14u™® + - .- — 885u + 207)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢4 (g =) (" — 269" + - —dy + 1)
€2 (g =) (Y* = 5y* + - —4dy + 1)
¢, 7 y? (y*0 — 159" + ... — 232y + 16)
Cs, C6, C9 (y2—3y+1)(y46—54y45+-~-—9y+1)
C10
Cs Y2 (y*® 4+ 29y* + - — 9760y + 256)
c11 (2 — 3y + 1) (y*® — 18y* + .- — 704565y + 42849)
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